
●

●

●
●

●

●

●

●

●

●

●

●●●

●

●

● ●

●

●

●

●

●

●
●

●●
●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●●

●
●

●

●

●●●

●

●

●

●●

●

●

●
●

●

●

●●

●●

●

●

●

●

●
●

●● ●●
●

●

●

●
●

●

●

●

●

●

●

●●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●●

●

●

●

●

●●
●

●

●

●

●●
●

●

●
●

●

●
●

●
●

●

●

●

●

● ●

●

●
●

●
●●

●

●●

●

●

●

●

0 10 20 30 40

−
10

0
10

20

Fitted values

P
ea

rs
on

 R
es

id
ua

ls


